HW UNIT 2.1  - OIL STRIKE
PART 1 

1. Heavy gas oil produced by the fractional distillation of crude oil has a high viscosity. 
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Which of the following properties also apply to heavy gas oil.

A

Low boiling point and high flammability

B

High boiling point and high flammability

C

Low boiling point and low flammability

D

High boiling point and low flammability






(1)
2. When methane burns in a plentiful supply of air, the products are

A 
Carbon monoxide and water vapour

B
Carbon and water vapour

C
Carbon dioxide and hydrogen

D
Carbon dioxide and water vapour








(1)
3. A compound burns in are. The only products of the reaction are carbon dioxide, sulphur dioxide and water vapour. The compound must contain:

A
 Carbon and hydrogen only

B
 Carbon and sulphur only

C
 Carbon, hydrogen and sulphur

D
 Carbon, hydrogen, sulphur and oxygen







(1)
4. Which of the following could be the molecular formula of an alkene. 

A
C7H16
B
C7H14
C
C7H12
D
C7H10












(1)
5. Three members of the cycloalkene homologous series are: 
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The general formula for this homologous series is:

A
CnH2n+2
B
CnH2n
C
CnH2n-2

D
CnH2n-4












(1)
6. A hydrocarbon was cracked. The equation for one reaction taking place is shown. 

[image: image3.png]



What is the molecular formula for Y?

A 
C3H8
B
C4H8
C
C4H10
D
C5H12












(1)
7. Which of the following is a renewable source of energy?

A
Coal

B
Petrol

C
Ethanol

D
Natural gas











(1)
The following grid refers to questions 8 and 9.
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8. Identify the hydrocarbon with six carbon atoms in the molecule.




(1)
9. Identify the two hydrocarbons which are alkenes. 






(1)
PART 2
1. A student burned gas X and the products were passed through the apparatus as shown. 
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(a) The results are shown in the table. 
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Using the information in the table, name two elements must be present in gas X.



(1) 

(b) The experiment was repeated using hydrogen gas. Copy and complete the table showing the results which would have been obtained. 
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(1)

2. Heptane can be cracked as shown. 
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One of the reactions taking place is: 
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(a) The product C3H6 decolourises bromine solution quickly. Suggest a name for the product C3H6.
             (1) 

(b) Aluminium oxide is used as a catalyst to speed up the reaction. Suggest another reason for using a catalyst.  (1) 

(c) Write the formula for aluminium oxide.









 (1)

3. Candle wax contains hydrocarbons. 

(a) Name the 2 elements found in hydrocarbons. 






 (1)
(b) A student carried out the following experiment.
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(i) Which gas is used up when the candle burns?







(1)

(ii) In the experiment the gas produced turns the lime water milky. Name the gas produced.

(1)

4. The table gives some information on hydrocarbons obtained from paraffins. 
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(a) Name the family of hydrocarbons in the table.







        (1)

(b) Eicosane is another member of this family. A molecule of eicosane contains 20 carbon atoms. Write the molecular formula for eicosane.








        (1)

(c) The hydrocarbon octane has the following structure.
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        Draw an isomer of the hydrocarbon octane. 







        (1) 

TOTAL = 20 MARKS
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